

On the decay property of solutions to the Cauchy problem of the semilinear beam equation with weak damping for large initial data

Hiroshi Takeda and Shuji Yoshikawa

Abstract.

This paper is devoted to the study of the initial value problem for some semilinear damped beam equation which has a non-negative definite energy functional. We prove a uniform bound and decay estimates of a solution for the equation with large initial data using the method introduced by Kawashima–Nakao–Ono [3].

§1. Introduction

In this paper we study the initial value problem for the following semilinear damped beam equation

$$(1) \quad \partial_t^2 u + \partial_t u + \partial_x^4 u - \alpha \partial_x^2 u = \partial_x f(\partial_x u), \quad t > 0, \quad x \in \mathbb{R},$$

$$(2) \quad u(0, x) = g_0(x), \quad \partial_t u(0, x) = g_1(x), \quad x \in \mathbb{R},$$

where $u = u(t, x)$ is an unknown real-valued function, $g_0(x)$ and $g_1(x)$ are given initial data and $\alpha \geq 0$ is a constant. We assume that the nonlinear function $f \in C^2(\mathbb{R})$ satisfies that for some $p > 1$ and any v ,

$$(3) \quad f(v)v \geq kF(v) \geq 0, \quad F(v) := \int_0^v f(\eta)d\eta,$$

$$(4) \quad |f'(v)| \leq C|v|^{p-1}, \quad |f(v)| \leq C|v|^p,$$

Received November 24, 2011.

Revised February 7, 2012.

2010 *Mathematics Subject Classification.* 35G10, 35B65, 35G25, 35E05.

Key words and phrases. Damped beam equation, Cauchy problem, fourth order wave equation with damping, decay estimate, large initial data.

where k and C are positive constants. The typical example is given by

$$(5) \quad f(v) = \beta|v|^{p-1}v, \quad p > 1,$$

where $\beta > 0$ is a positive constant.

We refer to the introduction in [6] for the motivations for studying (1)–(2). In [6] and [7], it was proved that the problem (1)–(2) with (5) in the case $\beta < 0$ has small solution with optimal decay, smoothing effect and asymptotic behavior for the solution. The equation (1) with (5) in the case $\beta > 0$ corresponds to the semilinear damped wave equation with absorption

$$(6) \quad \partial_t^2 u + \partial_t u - \Delta u = -\beta|u|^{p-1}u, \quad t > 0, \quad x \in \mathbb{R}^n, \quad \beta > 0.$$

Recently, by choosing a suitable weighted function for the equation (6), Todorova–Yordanov in [8] obtained quite sharp results, and Hayashi–Kaikina–Naumkin in [2] and Nishihara–Zhao in [5] developed their method. Here, we shall use another method to show the decay estimate. Our strategy for the proof of theorems lies in the application of the method introduced by Kawashima–Nakao–Ono [3]. Since unique global existence of solution $u(t) \in C([0, \infty); H^2(\mathbb{R})) \cap C^1([0, \infty); L^2(\mathbb{R}))$ with data $(g_0, g_1) \in H^2 \times L^2$ for (1)–(2) immediately follows from the standard energy method with the help of the contraction mapping principle, we omit the proof of it (see e.g. [1]). Let us state our main results of this paper.

Theorem 1. *Assume that (3)–(4) and $\alpha \geq 0$. Let $(g_0, g_1) \in H^2 \times L^2$. Then the solution $u(t) \in C([0, \infty); H^2(\mathbb{R})) \cap C^1([0, \infty); L^2(\mathbb{R}))$ for (1)–(2) has the boundedness and decay properties*

$$(7) \quad \|u(t)\|_{L^2} \leq C,$$

$$(8) \quad \|\partial_x^2 u(t)\|_{L^2} + \alpha \|\partial_x u(t)\|_{L^2} + \|\partial_t u(t)\|_{L^2} \leq C(1+t)^{-\frac{1}{2}}.$$

We conclude the introduction by giving notation used in this paper. Let ∂_t and ∂_x be a partial differential operator with respect to a variable t and x , respectively. $L^p(\mathbb{R})$ and $H^k(\mathbb{R})$ are the standard Lebesgue and Sobolev spaces, respectively. We denote the several positive constants by $C > 0$ without confusions. These constants may change from line to line.

§2. Preliminaries

In this section we prepare several estimates to show the main result. We first define the energy functional of (1)–(2) by

$$(9) \quad E(t) := \frac{1}{2} \|\partial_t u(t)\|_{L^2}^2 + \frac{1}{2} \|\partial_x^2 u(t)\|_{L^2}^2 + \frac{\alpha}{2} \|\partial_x u(t)\|_{L^2}^2 + \int_{\mathbb{R}} F(\partial_x u(t, x)) dx,$$

where F is defined in (3).

Lemma 2. For any $t_2 \geq t_1 \geq 0$, the solution $u(t) \in C([0, \infty); H^2(\mathbb{R})) \cap C^1([0, \infty); L^2(\mathbb{R}))$ for (1)–(2) satisfies

$$(10) \quad E(t_2) + \int_{t_1}^{t_2} \|\partial_t u(s)\|_{L^2}^2 ds = E(t_1),$$

and

$$(11) \quad \begin{aligned} & \int_{\mathbb{R}} u(t_2, x) \partial_t u(t_2, x) dx - \int_{\mathbb{R}} u(t_1, x) \partial_t u(t_1, x) dx \\ & + \int_{t_1}^{t_2} (\|\partial_x^2 u(s)\|_{L^2}^2 + \alpha \|\partial_x u(s)\|_{L^2}^2) ds \\ & + \int_{t_1}^{t_2} \int_{\mathbb{R}} u(s, x) \partial_t u(s, x) dx ds - \int_{t_1}^{t_2} \|\partial_t u(s)\|_{L^2}^2 ds \\ & = - \int_{t_1}^{t_2} \int_{\mathbb{R}} \partial_x u(s, x) f(\partial_x u(s, x)) dx ds. \end{aligned}$$

Proof. Multiplying (1) by $\partial_t u$ and integrating over $[t_1, t_2] \times \mathbb{R}$, we can easily obtain (10). Multiplying (1) by u and integrating over \mathbb{R} yield

$$\begin{aligned} & \frac{d}{dt} \int_{\mathbb{R}} u(t, x) \partial_t u(t, x) dx - \|\partial_t u(t)\|_{L^2}^2 + \int_{\mathbb{R}} u(t, x) \partial_t u(t, x) dx \\ & + \|\partial_x^2 u(t)\|_{L^2}^2 + \alpha \|\partial_x u(t)\|_{L^2}^2 = - \int_{\mathbb{R}} \partial_x u(t, x) f(\partial_x u(t, x)) dx. \end{aligned}$$

Then integrating it over $[t_1, t_2]$, we obtain the equality (11). Q.E.D.

Next lemma is an easy consequence of Lemma 2.

Lemma 3. For the solution for (1)–(2), we have

$$(12) \quad \|u(t)\|_{L^2}^2 \leq C, \quad t \geq 0,$$

where C is independent of t .

Proof. Note that $vf(v) \geq 0$. Then it follows from (11) that

$$\int_{\mathbb{R}} u(t, x) \partial_t u(t, x) dx - \int_{\mathbb{R}} g_0(x) g_1(x) dx + \|u(t)\|_{L^2}^2 - \|g_0\|_{L^2}^2 - \int_0^t \|\partial_t u(s)\|_{L^2}^2 ds \leq - \int_0^t \int_{\mathbb{R}} \partial_x u(s, x) f(\partial_x u(s, x)) dx ds \leq 0.$$

Therefore, we have

$$\begin{aligned} \|u(t)\|_{L^2}^2 &\leq \|g_0\|_{L^2}^2 + \|g_0\|_{L^2} \|g_1\|_{L^2} + \frac{1}{2} \|u(t)\|_{L^2}^2 \\ &\quad + \frac{1}{2} \|\partial_t u(t)\|_{L^2}^2 + E(0) \\ &\leq \|g_0\|_{L^2}^2 + \|g_0\|_{L^2} \|g_1\|_{L^2} + \frac{1}{2} \|u(t)\|_{L^2}^2 + 2E(0), \end{aligned}$$

which implies the desired estimate (12).

Q.E.D.

§3. Proof of Theorem 1

In this section we shall prove Theorem 1. The latter part of the proof is known as the procedure of Nakao [4].

Proof of Theorem 1. We first show that for any $t \geq 0$

$$(13) \quad \sup_{t \leq s \leq t+1} E(s) \leq C(E(t) - E(t+1)) + C\sqrt{E(t) - E(t+1)}.$$

Since from (10)

$$(14) \quad E(t) - E(t+1) = \int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds,$$

then we have

$$(15) \quad E(t) - E(t+1) \geq \int_t^{t+\frac{1}{4}} \|\partial_t u(s)\|_{L^2}^2 ds,$$

$$(16) \quad E(t) - E(t+1) \geq \int_{t+\frac{3}{4}}^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds.$$

From the mean value theorem there exists some $\tau_1 \in [t, t + 1/4]$ and $\tau_2 \in [t + 3/4, t + 1]$ such that

$$(17) \quad \frac{1}{4} \|\partial_t u(\tau_1)\|_{L^2}^2 = \int_t^{t+\frac{1}{4}} \|\partial_t u(s)\|_{L^2}^2 ds,$$

$$(18) \quad \frac{1}{4} \|\partial_t u(\tau_2)\|_{L^2}^2 = \int_{t+\frac{3}{4}}^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds.$$

From (11) and (12) we have

$$\begin{aligned}
 & \int_{\tau_1}^{\tau_2} \left\{ \|\partial_x^2 u(s)\|_{L^2}^2 + \alpha \|\partial_x u(s)\|_{L^2}^2 + \int_{\mathbb{R}} \partial_x u(s, x) f(\partial_x u(s, x)) dx \right\} ds \\
 & \leq \|u(\tau_1)\|_{L^2} \|\partial_t u(\tau_1)\|_{L^2} + \|u(\tau_2)\|_{L^2} \|\partial_t u(\tau_2)\|_{L^2} \\
 & \quad + \int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds + \int_t^{t+1} \|u(s)\|_{L^2} \|\partial_t u(s)\|_{L^2} ds \\
 & \leq C \|\partial_t u(\tau_1)\|_{L^2} + C \|\partial_t u(\tau_2)\|_{L^2} \\
 (19) \quad & \quad + \int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds + C \int_t^{t+1} \|\partial_t u(s)\|_{L^2} ds \\
 & \leq C \left(\int_t^{t+\frac{1}{4}} \|\partial_t u(s)\|_{L^2}^2 ds \right)^{\frac{1}{2}} + C \left(\int_{t+\frac{3}{4}}^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds \right)^{\frac{1}{2}} \\
 & \quad + \int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds + C \left(\int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds \right)^{\frac{1}{2}} \\
 & \leq E(t) - E(t+1) + C\sqrt{E(t) - E(t+1)},
 \end{aligned}$$

by virtue of (14)–(18). On the other hand, we see that

$$(20) \quad \int_{\tau_1}^{\tau_2} \|\partial_t u(s)\|_{L^2}^2 ds \leq \int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds = E(t) - E(t+1).$$

Since $v f(v) \geq kF(v)$, combining (19) and (20) yields

$$(21) \quad \int_{\tau_1}^{\tau_2} E(s) ds \leq C(E(t) - E(t+1)) + C\sqrt{E(t) - E(t+1)}.$$

From the mean value theorem, there exists $\tau_0 \in [\tau_1, \tau_2]$ such that

$$(\tau_2 - \tau_1)E(\tau_0) = \int_{\tau_1}^{\tau_2} E(s) ds.$$

Since $\tau_2 - \tau_1 \geq 1/2$, we have for some $\tau_0 \in [\tau_1, \tau_2]$

$$(22) \quad E(\tau_0) \leq C(E(t) - E(t+1)) + C\sqrt{E(t) - E(t+1)}.$$

For any $\tau \in [\tau_0, t+1]$ it follows from (10) that

$$E(\tau_0) = E(\tau) + \int_{\tau_0}^{\tau} \|\partial_t u(s)\|_{L^2}^2 ds \geq E(\tau).$$

Then we have

$$(23) \quad \sup_{\tau_0 \leq \tau \leq t+1} E(\tau) \leq C(E(t) - E(t+1)) + C\sqrt{E(t) - E(t+1)}.$$

Similarly, from (10), for any $\tau \in [t, \tau_0]$, we see that

$$\begin{aligned} E(\tau) &= E(\tau_0) + \int_{\tau}^{\tau_0} \|\partial_t u(s)\|_{L^2}^2 ds \\ &\leq E(\tau_0) + \int_t^{t+1} \|\partial_t u(s)\|_{L^2}^2 ds \\ &= E(\tau_0) + E(t) - E(t+1). \end{aligned}$$

Then we have

$$(24) \quad \sup_{t \leq \tau \leq \tau_0} E(\tau) \leq C(E(t) - E(t+1)) + C\sqrt{E(t) - E(t+1)}.$$

From (23) and (24) we arrive at (13).

Next, we shall show

$$(25) \quad E(t) \leq C(1+t)^{-1}.$$

From (13) we have

$$\begin{aligned} \sup_{t \leq s \leq t+1} E(s)^2 &\leq C \left\{ (E(t) - E(t+1)) + \sqrt{E(t) - E(t+1)} \right\}^2 \\ &\leq C(E(t) - E(t+1))^2 + C(E(t) - E(t+1)) \\ &\leq C(E(t) - E(t+1))(E(t) - E(t+1) + 1) \\ &\leq C(E(t) - E(t+1))(E(0) + 1) \\ &\leq C(E(t) - E(t+1)). \end{aligned}$$

Here, we assume that there exists some $T \geq 0$ such that $E(T) = 0$. Then, from (10) we see that for any $t \geq T$

$$E(t) + \int_T^t \|\partial_t u(s)\|_{L^2}^2 ds = E(T) = 0,$$

which implies $E(t) = 0$ for any $t \geq T$. Thus the desired estimate (25) obviously holds true. On the other hand, we assume that $E(t) > 0$ for any $t \geq 0$. Setting $y(t) = E(t)^{-1}$, then we have

$$\begin{aligned} y(t+1) - y(t) &= \int_0^1 \frac{d}{d\theta} \{\theta E(t+1) + (1-\theta)E(t)\}^{-1} d\theta \\ &= (E(t) - E(t+1)) \int_0^1 \{\theta E(t+1) + (1-\theta)E(t)\}^{-2} d\theta \\ &\geq C \sup_{t \leq s \leq t+1} E(s)^2 \int_0^1 \{\theta E(t+1) + (1-\theta)E(t)\}^{-2} d\theta. \end{aligned}$$

Since $0 \leq \theta \leq 1$, it follows that

$$\frac{1}{\{\theta E(t+1) + (1-\theta)E(t)\}^2} \geq \frac{1}{\{E(t+1) + E(t)\}^2} \geq \frac{1}{4 \sup_{t \leq s \leq t+1} E(s)^2}.$$

Therefore, there exists some positive constant C_0 independent of t such that

$$y(t+1) - y(t) \geq C_0 > 0.$$

For every $t \geq 2$ there exists a unique number $N \in \mathbb{N}$ such that $N \leq t < N+1$. Then we obtain

$$\begin{aligned} y(t) &\geq y(t-1) + C_0 \\ &\geq y(t-2) + 2C_0 \\ &\geq \dots \\ &\geq y(t-N) + NC_0 \\ &> NC_0 \geq (t-1)C_0. \end{aligned}$$

Hence, we conclude that

$$E(t) \leq C(t-1)^{-1} \leq C(1+t)^{-1}$$

for $t \geq 2$. Since $E(t)$ is bounded in $0 \leq t \leq 2$, we obtain (25). This completes the proof. Q.E.D.

Acknowledgements. The authors are partially supported by the Japan Ministry of Education, Science, Sports and Culture, Grant-in-Aid for Young Scientists (B), No. 22740097 and No. 23740116.

References

- [1] T. Cazenave and A. Haraux, An Introduction to Semilinear Evolution Equations, Oxford Lecture Ser. Math. Appl., **13**, Oxford Univ. Press, New York, 1998.
- [2] N. Hayashi, E. Kaikina and P. I. Naumkin, On the critical nonlinear damped wave equation with large initial data, J. Math. Anal. Appl., **334** (2007), 1400–1425.
- [3] S. Kawashima, M. Nakao and K. Ono, On the decay property of solutions to the Cauchy problem of the semilinear wave equation with a dissipative term, J. Math. Soc. Japan, **47** (1995), 617–653.
- [4] M. Nakao, A difference inequality and its application to nonlinear evolution equations, J. Math. Soc. Japan, **30** (1978), 747–762.

- [5] K. Nishihara and H. Zhao, Decay properties of solutions to the Cauchy problem for the damped wave equation with absorption, *J. Math. Anal. Appl.*, **313** (2006), 598–610.
- [6] H. Takeda and S. Yoshikawa, On the initial value problem of the semilinear beam equation with weak damping I: Smoothing effect, *J. Math. Anal. Appl.*, **401** (2013), 244–258.
- [7] H. Takeda and S. Yoshikawa, On the initial value problem of the semilinear beam equation with weak damping II: Asymptotic profiles, *J. Differential Equations*, **253** (2012), 3061–3080.
- [8] T. Todorova and B. Yordanov, Critical exponent for a nonlinear wave equation with damping, *J. Differential Equations*, **174** (2001), 464–489.

Hiroshi Takeda

*Department of Intelligent Mechanical Engineering
Faculty of Engineering, Fukuoka Institute of Technology
3-30-1 Wajiro-higashi, Higashi-ku
Fukuoka 811-0295
Japan*

Shuji Yoshikawa

*Department of Engineering for Production and Environment
Graduate School of Science and Engineering
Ehime University
3 Bunkyo-cho, Matsuyama
Ehime 790-8577
Japan*

*E-mail address: h-takeda@fit.ac.jp
yoshikawa@ehime-u.ac.jp*